Acids, Bases and Salts

Which acid-base pair will always undergo a
reaction that produces a neutral solution?

A @ weak acid and a weak Dase

B alveskacdamesassiiong bdse
c Ngacid anga weaak basg
D ( ldland & stiohg base
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Given the equilibrium system:
NH;(aq) + H,0(l) = NH,*(aq) + OH-(aq)

Aecordintto the Bronsted-Lowry theory,
the HzO acts as

A by fegeiving ajproton
B - base, by j a praton
C.2i acid, Qy/receiving a proton
D 2an acid, by donatingha proton

How many miililiters of 0.010 M NaOH are
required to exactly neutralize 20.0
milliliters of 0.020 M HCI?

Which of the following is the weakest
Bronsted-Lowry acid?
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Ah ei mical §etuplednsists of
twehai-eells, am angesa-eattiode, an
external circui, and a salt bridge. When
a reaction occurs, ion migration takes
place through the

A anode

B cathode

C salt bridge

D external circuit

and OH- are mixed?

A oxidation

B .

C hydroly

D zatjt

According o the Bréristeds_awry theory,
an acid is any species that

A releases hydroxide ions into solution
B releases oxide ions into solution

€ donates protons to another species
D accepts protons from another species

© Copyright NewPath Learning. All Rights Reserved. Permission is granted for the purchaser to print copies for
non-commercial educational purposes only. Visit us at www.NewPathWorksheets.com


http://www.NewPathWorksheets.com/#login
http://www.NewPathWorksheets.com/membership

Acids, Bases and Salts

Class

Which acid-base pair will always undergo a
reaction that produces a neutral solution?

A @ weak acid and a weak Dase

B alveskacdamesassiiong bdse
c Ngacid anga weaak basg
D ( ldland & stiohg base

A~
14

Date

Given the equilibrium system:
NH;(aq) + H,0(l) = NH,*(aq) + OH-(aq)
Aecordintto the Bronsted-Lowry theory,
the HzO acts as @
A by fegeiving ajproton
B - base, by j a praton
C.2i acid, Qy/receiving a proton
D an Acid, by donatingha proton

How many miililiters of 0.010 M NaOH are
required to exactly neutralize 20.0
milliliters of 0.020 M HCI?

Which of the following is the weakest
Bronsted-Lowry acid?

A_LL O

7

PREVIEW

Please Sign In or Sign Up to download
the printable version of this worksheet

A SO, molecules
B H,O molecules oy B
C H;O*(aa)ions I =

D "SG2Hag)01s : ‘_,’77“.

e

©

Ah ei mical §etuplednsists of
twehai-eells, am angesa-eattiode, an
external circui, and a salt bridge. When
a reaction occurs, ion migration takes
place through the

A anode

B cathode

C salt bridge

D external circuit

©

and OH- are mixed?

A oxidation @
B »

C hydroly
D zatic

According o the Bréristeds_awry theory,
an acid is any species that

A releases hydroxide ions into solution

B releases oxide ions into solution @
€ donates protons to another species

D accepts protons from another species

© Copyright NewPath Learning. All Rights Reserved. Permission is granted for the purchaser to print copies for
non-commercial educational purposes only. Visit us at www.NewPathWorksheets.com


http://www.NewPathWorksheets.com/#login
http://www.NewPathWorksheets.com/membership
http://www.tcpdf.org

